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1 | BEMRER 60 6 12 42 60 6 12 42 0
2 | [ERREBE 90 12 25 53 90 12 25 53 0
3 |MEREE 90 9 27 54 90 9 27 54 0
4 |)\BREE 140 15 35 90 140 15 35 90 0
5 |RMLEBE 120 13 32 75 120 13 32 75 0
6 | TFTHRBE 150 18 50 82 150 18 50 82 0
7 |BTIGREE 110 15 15 15 20 22 23 110 15 15 15 20 22 23 0
8 |HERAE 70 10 12 12 12 12 12 70 10 12 12 12 12 12 0
9 |EEREE 90 15 17 17 14 14 13 90 15 17 17 14 14 13 0
10|LFBRER 90 10 24 56 90 10 24 56 0
@ 11 |ERRESRER 9| 15 30 45 9| 15 30 45 0
T 12| MERER oo r2[ w2 w2 i8] 18] 18 oo 12| r2[ 2] 18] 18] 18 0
3 13| EHHRER 90 10 30 50 90 10 30 50 0
;i 14| RREE 60 12 20 28 60 12 20 28 0
15 | EREREE 1200 12| 15[ 23 70 1200 12| 15] 23 70 0
16 |FEREE 90 10 30 50 90 10 30 50 0
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19| K EHRER 60 6 18 36 60 6 18 36 0
20| EEEER 80 9 10 1 16 17 17, 80 9 10 1 16 17 17 0
21 [ FRREE 50 7 9 9 9 8 8 50 7 9 9 9 8 8 0
22 | FEREE 60 8 16 36 60 8 16 36 0
23 |BEREE 40 3 15 22 40 3 15 22 0
24 |HIFEELE 40 12 10 10 8 0 0 40 12 10 10 8 0 0 0
25 | FHEHOE 40 5 5 6 8 8 8 40 5 5 6 8 8 8 0
= e 15 5 5 5|15 5 5 5
26| ROR-ELHE 2538 9 8 16 16 13 14 13|25 35 9 8 16 16 13 14 13 0
[ 15 15
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34| BEHHE 2535 106 0 6 9 11 12 12[2E 3% 106 0 6 9 11 12 12 0
5 — 15 4 7 7 s 4 7 7 7
35 | BEE = iE 2535 o 0 6 6 8 8 8l2E 35 o 0 6 6 8 8 8 0
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